Differential signal pair needs two
ground returns (ie 4 wires total)

PCB1 PCB2

3V

R1
220
- Vi
CQi.a e 5 3
= Wmop e V5 V6
2N7002
5 -5
Microcontroller ra Rser=0.1 Rser=0.1

PULSE(0 10 0 24n 20n 4u)
J Rser=0.1 r8
< Receiver Microcontroller
Transmitter . . £z N
D Iffe re ntl a I RBRS%:SBGA o1 |'LT6220
- R11
3v3 signal cable
R2
| v2 220
C%J 0.1
ser=0. M2
ez :j 2N7002
100p
R3
10k
PULSE(0 10 20n 20n 2u 4u)
Rser=0.1
<

«tran 0 10m 0 startup

--- C:\SMPS Course SMALL L61\Course Folders SMALL\comms\Differential signalling.asc ---



